F12EFOEEDREENIFR—ILREERSEL LYK (xF7)

KM
(FER)

tiE
(FHR)

P

(#BFHR)

A

(fERR)

B
(RIR)
£
(RRR)

=84
(BER)

KE+=
(BWR)
£A
(ERER)

L
(ZER)
SAR
(BER)
258
(L&)
E=E
(AR
A
(RERR)
Al
(IR
(3
(BFR)

EW]|
(KRR

—_

17

20

21

22

23

29H

SRFH B B

BEH =

268 278 288
22
16
27
11
1 [ 32
19
32
11
11
17 f=s
16
40 =
16
1
| 8 8
37
2 |12
11
33 =
3| 13
BE
13
19 =
44
10
2
Iz
24
4 [ 26
20
4
s
5 | 22
19
27
21 ==
15
1
s
14
L] o
18
6 | 16
10
35
25
7 |11
[ 21
11
23
24

—2% 45

28H 2780 26H
24 BP9sE—
(R
4 24
34 25 KEILED
22 (BAfEM)
13| 8
26 THRE
(FFBR)
21
I 97 B
(BRXIR)
1] 9
12] 28 Loganil
21) . (FWR)
16
Al
2 (mER)
11
5| * o  HHE=
(FOFRILIR)
131 56 .
23 31 RER-E%
6 (L)
29] 10
32 R
16] .- (R
11
WA
B (wzNm)
17 11
4 34 AKEZ
11 ,, (MM 1R)
7
35 HHE-EIL-
AT ILJr
(IE&R)
36 RAEKRA
(BRHR)
19
20| | 5  EEE—
29 (KBRFF)
9| 12
38 £
(RHE)
16
12 38 39 7beat
(;-3=1-H)
8| 13
19] w0 2 FIE—
25| ,q (FIR)
16
a1 EE]-IEIF
12 " §=1"-1-H)
FiRE
2 mER)
6
38| *° . 43 ¥
33 (RER)
8| 14
A%
18] 4o IC.T D
15
45 HCiT&®
(BIRE)
8| 15
26| 46 =R
15] ., (BER)
22
47 a7

(RR&)



